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class treef
void message () { System.out.println("1359"); }
int tree(){ System.out.println("Tr"); return 3; }

}

class two extends tree(
void message () { super.message /() ;
System.out.println("4321"); }
two () { System.out.println("Tw"); }

}

public class one extends twof{
void message () { System.out.println("1234"); }
one () { System.out.println("on"); }
public static void main(Stringl[] args) {
one Exam = new one() ;
Exam.message () ;
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class Smart({
public:
explicit Smart (int *p = NULL) { sp = p; }
~Smart () { delete(sp); }
int& operator* () { return *sp; }
private:
int *sp;
} i
int main(void) {
Smart p(new int()) ;
*p = 2016;
cout << *p << endl;
return 0;
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int main () {

i

2, Cc = 3,
$d\n%d\nsd\n", a+b+c+d, (b *= a),
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int main () {

double d[10] [20] [30] [40];

printf ("$d\n", (int) sizeof (d[1] [5]));
printf ("$d\n", (int) sizeof (d[1] [5] [20]));
printf ("$d\n", (int) (d - &dI[3]));

printf ("$d\n", (int) (d[3]11[4] - 4dI[5]1[8]1));



